BioGeoChemical Cycles
Let’s See what you can do Quiz

Directions.  Mark the letter that provides the BEST answer for each question.  There is only one correct answer for each question.
  1.  Biogeochemical cycles:


A.  only include processes conducted by or within living organisms.

B.  pertain only to the abiotic environment.

C.  describe the movement of water and other materials throughout the abiotic and biotic environment.

D.  only pertain to exchanges and interactions that occur within the atmosphere.

E.  are used to describe the attempts of humans to recycle various pollutants.

  2.  Which of the following is NOT one of the biogeochemical cycles considered to have particular importance for organisms?

   A.  carbon 

   B.  hydrogen
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   C.  nitrogen

   D.  phosphorus

   E.  water

  3.  Approximately what percentage of the atmosphere is CO2? 
   A.    0.001%
   B.    0.04%
   C.  10%
   D.  30%
   E.  75%
  4.  Which of the following accurately represents a carbon source and the process which releases carbon from that source?

   A.  fossil fuels, respiration

   B.  animals, photosynthesis

   C.  plants, cell respiration

   D.  bicarbonate, combustion

   E.  limestone, combustion

  5.   As written the below chemical process occurs in which of the following?
6CO2  +  12H2O  +  RADIANT ENERGY  --->  C6H12O6  +  6H2O  +  6O2  

   A.  consumers

   B.  the abiotic atmosphere

   C.  decomposers

   D.  producers

   E.  scavengers

6.  Which of the following is NOT a source of carbon for the carbon cycle?

   A.  shells of marine organisms

   B.  oil

   C.  decomposers

   D.  fertilizer

   E.  the atmosphere

7.  The phenomenon in which high levels of carbon dioxide cause global warming is known as:
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   A.  the Gaia hypothesis.
   B.  acid deposition.
   C.  the greenhouse effect.
   D.  global distillation.
   E.  the El Niño--Southern Oscillation.

8.  Which of the following is NOT a carbon sink?
   A.  limestone sediment
   B.  trees
   C.  the atmosphere
   D.  coal stored in the Earth’s crust
   E.  oil and natural gas stored in the Earth’s crust
9.  Nitrogen is essential for living organisms to make:
   A.  lipids.
   B.  proteins.
   C.  carbohydrates.
   D.  sulfates.
   E.  benzene rings.
10.  Nitrogen gas accounts for what percentage of the atmosphere? 
   A.    1%
   B.    7%
   C.  55%
   D.  78%
   E.  99%
11.  What is the first step in the nitrogen cycle, in which gaseous nitrogen is converted into ammonia?
   A.  nitrification
   B.  ammonification
   C.  assimilation
   D.  denitrification
   E.  nitrogen fixation
12.  What part of the nitrogen cycle deals with the conversion of nitrogen in waste products or dead organisms into ammonia?
   A.  nitrification
   B.  ammonification
   C.  assimilation
   D.  denitrification
   E.  nitrogen fixation
13.  The process where some bacteria remove nitrate from the soil by converting it to nitrogen gas is:
   A.  nitrification.
   B.  ammonification.
   C.  assimilation.
   D.  denitrification.
   E.  nitrogen fixation.
14.  The step in the nitrogen cycle where bacteria convert ammonia (NH3) to nitrate (NO3-) is:
   A.  nitrification.
   B.  ammonification.
   C.  assimilation.
   D.  denitrification.
   E.  nitrogen fixation.
15.  The step in the nitrogen cycle where plants take up nitrate and use it to make biological molecules is:
   A.  nitrification.
   B.  ammonification.
   C.  assimilation.
   D.  denitrification.
   E.  nitrogen fixation.
16.  The phosphorus cycle differs from the carbon cycle in that:

   A.  there is little or no human impact on the phosphorus cycle.

   B.  phosphorus is not a critical component of living organisms.

   C.  the hydrosphere contributes to part of the phosphorus cycle.

   D.  the atmosphere does not contribute to part of the phosphorus cycle.

   E.  plants play a role in the carbon cycle, but have no role in the phosphorus cycle.

17.  One human impact on the phosphorus cycle occurs through:

   A.  burning of fossil fuels.

   B.  the use of fertilizers.

   C.  the greenhouse effect.

   D.  global warming.

   E.  depletion of the ozone layer.

18.  Which of the following processes plays an important role in the phosphorus cycle?

   A.  erosion

   B.  assimilation

   C.  combustion

   D.  cell respiration

   E.  ammonification

19.  Water that seeps downward through the soil and rock:

   A.  spends a few years underground and then returns to the surface.

   B.  is no longer part of the hydrologic cycle. 

   C.  becomes groundwater.

   D.  is part of the process known as transpiration.

   E.  must move into the ocean before returning to the surface.
20.  Transpiration occurs in:

   A.  oceans.

   B.  groundwater.

   C.  the atmosphere.

   D.  animals.

   E.  terrestrial plants.

21.  Which of the following is an important precursor to acid rain?
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   A.  Carbon dioxide
   B.  Carbon monoxide
   C.  Methane
   D.  Radon
   E.  Sulfur dioxide
22.  The ultimate source of energy for terrestrial ecosystems is:
   A.  nutrients in soil
   B.  nutrients in vegetation
   C.  primary consumers
   D.  producers
   E.  the Sun
23.  Which of the following best describes soils in many tropical rain forests?
   A.  They lack soil horizons
   B.  They are quickly depleted of nutrients when the forest is removed.
   C.  They are similar to soils in grasslands
   D.  They are well suited for growing a wide variety of crops
   E.  They are deep and well drained.
24.   The major biological source of dissolved oxygen in the ocean comes from
   A.     decomposition of organic sediments on the ocean floor 

   B.     metabolic processes of coral in reefs
   C.   oxidation of sulfur by bacteria in ocean vent communities
   D.  photosynthesis by phytoplankton
   E.  respiration by zooplankton
25.  Overgrazing of public land by privately owned livestock is an example of the
   A.  tragedy of the commons
   B.  right of eminent domain
   C.  rule of seventy
   D.  principle of manifest destiny
   E.  swapping of debt for nature
26.  The two major processes involved in the carbon cycle are


A.  weathering and erosion



B.  photosynthesis and respiration



C.  evaporation and transpiration



D.  erosion and deposition



E.  fixation and denitrification

27.  Where is energy highest in this food chain: 
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   A.  prevailing winds
   B.  polar easterlies
   C.  westerlies
   D.  trade winds
   E.  Coriolis
28.  El Niño—Southern Oscillation events:   

   A.  are responsible for dramatic increases in the productivity of fisheries off South America. 

   B.  reach coastal areas of Peru around mid-summer.

   C.  occur once or twice every century.

   D.  alter both ocean and atmospheric circulation patterns.

   E.   have little impact on marine organisms, but devastating effects on terrestrial weather patterns.

29.  Which of the following is known as the sedimentary cycle because its reservoir is sedimentary rock?
   A.  carbon cycle
   B.  hydrologic cycle
   C.  nitrogen cycle
   D.  phosphorus cycle
   E.  none of the above
30.  The cycling of water through the hydrologic cycle depends on

   A.  transpiration from plants
   B.  evaporation from the soil
   C.  precipitation to the ocean
   D.  condensation in the atmosphere
   E.  all of the above
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